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%] Notes p. 483 1. Find the slope of the line cSrhectin ing

$ Assignment: the points (2, 3k) and (1, 2k). l\i
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2. Find the slope of the line connecting
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1. Draw a coordinate plane.
Plot any 3 points on the x-
axis. What do you notice
about the coordinates of all
3 points?
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2. Plot any 3 points on the

y-axis. What do you notice

about the coordinates of all

3 points? . .
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Ak What does It mean To get an
interception in footoall?

Fold Your paper In haif, glue onTo page 1&.
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ESSENTIAL How do I find both the x- and y- intercepts
QUESTION of graphs, tables, and equations?

""‘;‘;‘;"""

« The x-intercept, zero of a function, solution is the point where a graph crosses or, intersects the \}\“ éx \ 5 :

« The y-intercept is the point where a graph crosses or intersects the Si QK l a (

Find the x and y-intercepts of each graph. Be sure to write each as an orderem :
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of grgprﬁs, tables, and equations?
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7.

6.

Find the x- and y-intercepts and the slope from the table of values.
5.

(»-9,\0

y-intercept:(°|

Zero:

Yoo

Z,) Y=

y-intercept:(D |‘.)

)

x-intercept: (’3 \U) solution: L(f\ \‘B >.

b

—
2)

y-intercept: l.()|
U

| Rate of Changeé
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ESSENTIAL How do I find both the x- and y- intercepts
QUESTION of graphs, tables, and equations?

9. The volleyball team is @lng to a game 120 miles away.?‘.eir average speed is 40 mph. The graphed line describe
the distance left to travel at any time du =~ nd y—intercepts and state what each represents.

What is the x-intercept of this function?

(%1D>

What does the x-intercept represent?

% DUES 4o dvive
4o e game

What is the y-intercept for this function?

(6,)20)

What does the y-intercept represent?

T™hey haveto Ravne)

Distance (mi)
i ]
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Algebra I - Unit 3: Topic 2 — x and y Intercepts %ﬁ: \‘ \/L
Practice — x and y-Intercepts pp 303-309

Name Date Period

Find the x and y-intercepts.

1. - 2. T T 3, g
- 11 4 I ¢ . — |
! SEssseae bt —
E ;
X-intercept zero: solution:
Jintercept J-intercept Jintercept:
Slope: m= Rate of Change:
o Y 50 x Y
-2 10 -6 6
0 6 -3 4
1 4 3 0
2 2 6 -2
3 0 9 -4
zero: solution:
Jintercept y-intercept:
Rate of Change: m=

Find the x-intercept and y-intercept, then use them to graph the equations.
6. 3x+9y=9

4 .
3 x-intercept:
2
— i X
4 y-intercept:
| R T . 1 1 3 4 s
1
-2 slope:
3
-4
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Algebra I - Unit 3: Topic 2 — x and y Intercepts
The graph shows the distance of an elevator at Chimney Rock, North Carolina, from its destination as a function of time.
Use the graph to answer questions 7-9.

Speed of Elevator at Chimney Rock

7. What is the x-intercept of this function? a0

8. What does the x-intercept represent?

3
-1
§
i
g

9. What is the y-intercept for this function?

2 4 6 8 101214 1618 20 22 24 26 28 90
Time (s)
10. What does the y-intercept represent?

11. What is the pintercept of the function F(x) = %(x -6)?

12. Which of the following functions has 2 as a zero of the function?

A flx)=x+2
B flx)=x-2
C flx)=2x

D Ff(x)=2x+2
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£ HOMEWORK CHECK

1. x-intercept: (3,0) | 2. zero: (-4,0) 3. Solution: none
y-intercept: (0,-3) y-intercept: (0,-6)]  y-intercept: (0,1)
Slope: 1 m= -3/2 Rate of Change: zero

4. zero: (3,0) 5. solution: (3,0)
y-intercept: (0,6) y-intercept: (0,2)
Rate of change: -2 m= -2/3

6. x-intercept: (3,0)
y-intercept: (0,1)
slope: -1/3

7. (30,0)

8. Time to get to bottom

9. (0,265)

10. Distance from top
e HW 2.5 DUE

12. B TOMORROW!
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